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Out of the following fifteen Multiple Choice Questions, attempt any twelve questions. Each
question carries 1 mark.
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freferiaa # @ i &1 WA siiertr s ggen = @ 7

(a)  UiETgdr ghequ (b) THAA HEAT

(c)  frequr |rge Ui hiAT | (d) USTREH &1 =
Which one of the following is the First step of supervised classification ?
(a) Accuracy Assessment (b) Smoothening

(©) Defining training sites (d) Selection of algorithm

frfetfaa & & @i @ faveq foeagraha faferton & dagr 3t sifveres emar @ Tefea
g7

(@) S (b) EREEA

(c)  Yfeamufdeaar wifuss (d) Hifet

Which one of the following resolutions refers to sensing and recording power of the
sensor in different bands of EMR ?

(a) Spectral (b) Spatial

(©) Radio metric (d) Temporal

HHTEE IR i dTel STk I el ATl &

(a)  FHEHR (b)  ferrs

(c) Sy fomres (d) o9z foqm

A person who prepares map is known as

(a) Cartographer (b)  Geologist

(©) Climatologist (d) Oceanographer
2
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(a) A (b) foef=

(c) aAtufta= (d) wfeafa fmio
Which one of the following is NOT a spatial operation tool ?

(a) Query (b) Dissolve

(©) Overlay (d) Topology building

fafcTRad o @ % € fova =T E=Ter 3ug TTTel! JUTTEH STAe ST g dar

EIRIE IR 1
(a) TIRR (b) TANTE
(c)  efifern d) TE

Which one of the following Global navigation satellite systems is developed by
European Space Agency ?

(a) NAVSTAR (b) GLONASS

(c)  GALILEO (d) GAGAN

froret aren rgAfee fhereg foga st feufey frerfor yomef <t uftegar 2 1
(a) 209t — 1. (b) 50@.. — 100 T,

(c) 1ad. -5 (d) 15T —100 .

The accuracy of Real Time Kinetic Fixed GPS is

(a) 20cm— Im (b) 50cm-—100cm

(c) lecm—5cm (d 15m-100m

frafafaa ast § 9 foras fava s fRafa Fufor yomedt <61 ugen suuzg weenfuq (@)

[ERIRIRIRI 1
(a) 1978 (b)y 1980

(c) 1982 (d 1964

In which one of the following years the first GPS Satellite was launched ?

(a) 1978 (b) 1980

(c) 1982 (d) 1964
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(a) foa-1I (b) vgHe

(c) IATZHHAE (d) HRREE -2

Which one of the following sensors provides high resolution PAN images ?

(a) LISS — 11T (b) Land Sat

(©) IKONOS (d) Cartosat -2

TH. 37T, TR T, 18 ? 1
(a)  Sf.H T, Fa verd (b) Sft.dt.wd. o ScaTes

(c)  Towoeeg weman (d) =T JuTe

What is SIRF ?

(a) A GPS service provider (b) A manufacturer of GPS chip cells

(©) A content provider (d) A navigation system

fr=ferRaa ® @ S =t wHfas e gRaE e AT fesme | fosfm it g 7 1
(a) <\ (b) Torm amd

(c) 2fefueem (d) wrEg

Which one of the following mapping programmes was developed by Harvard School
of Design ?

(a) TOM TOM (b) Geoeye

(©) Teleatlas (d) SYMAP

Slslaldl \ﬂ(’if&‘ﬂl\ﬂ%@ﬁ[% 1
(a) HBRE (b) AT

(c) THAEH (d) dfHerTg

Doddahalla watershed is located in

(a) Maharashtra (b) Andhra Pradesh

(©) Karnataka (d) Tamil Nadu

4 Ccn



12.

13.

14.

15.

247

ST ATt feremt o wfimiferss e omTedt ST 4T SwR 2 1
(a)  hITST o AT ! I AHET § UTRd ST |

(b) WA HFRE dAR HET

(c)  The Hid TaE

(d) 3T <kl e T C

Main benefit of using GIS in utility departments is

(a) Convert paper maps into digital maps

(b) Prepare hazard mapping

(©) Distress call management

(d) Early warning for disasters

Y e fI¥eT T 1 SUUE 8 1
(a)  fom (b) SR

(c) HRHE-2 @) fom-1v

A satellite of low spatial resolution is

(a) WIFS (b) IKONOS

(c) Cartosat — 2 (d) LISS-1V

frafrfiga & & % @ <fer Aieet Ead foml & STy (3o0h8) FH T ATHEAME 7 1

(a) (b) T

) T (d) <SR

Which one of the following data models is easier to interface with remote sensing
images ?

(a) Vector (b) Raster

(©) Spaghetti (d) Topological

Framamt (32) feufa < o @ & fore 5 @ 5 forar STl i AEvTeT Bl 8 7 1

(@ 3 (b) 4
() 5 d) 6
At least how many Satellites are required to calculate 3D position ?
(a 3 (b) 4
() 5 d 6
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Attempt any four questions out of six questions. Each question carries two marks.

16.  eXdoi e (FRme fheeftn) w8 ? @y Hifv | 2

What is Spatial filtering ? Explain.

17. ST 1T HTEHT o ¢ bR 6 9 feAfg | 1+1=2

Name the two categories of vector data structure.

18. T A fava =t feufa fFremor yoneft & Sum = is o oy w1m HifS | 1+1=2

Explain any two benefits of using GPS technology in surveying.

19. 99 S.3775.TH. & fehgl T ST ohT Sooid I | 2

Mention any two advantages of web GIS.

20. TeSirectistor 31 g1 & 7 38 fehegl Q aliehl ol Iooi@ SHIfTT | 1+1=2

What is Digitization ? Mention its any two methods.

21. gLEET % gt fagr= s e <hIfaT | 2

Explain the basic principle of remote sensing.
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Attempt any five questions out of seven questions. Each question carries three marks.

22. faeR =2 ? feTer o fafir weprdd w1 w7 AIfT | 1+2=3
What is Lidar ? Explain the different types of Lidar.

23, RIdfera sffera ffertor o1 R SATA & 7 39 SeRL0r o STTERYA feheal = =R o

Ieord HINT | 1+2=3
What is supervised image classification ? Mention any four basic steps of this
classification.

24. virifetes < @ 9o B © 7 I8 vaifug fdw a3 8 fha TR = 7 7 1+2=3

What is a Geographic Co-ordinate system ? How is it different from projected
co-ordinate system ?

25. @t foqm Fon g 7 |fedtd o Td duTed st SR i T i | 1+2=3
What is Topology ? Explain the process of building and editing topology.

26. HiE T S % w1g Tifaw A § Wi gEaT et wal s SwEh w2
7Y I | 3

How GIS has helped in the flood hazard mapping of Kosi river basin ? Explain.

27. Trfom s @ § ¢ wE Hifse | 3
What is Stereo photography ? Explain.

28. TSHATAIT Q%M ST o YHTE & T 3Teheid i b I D AT et faveryor alien
T ITART R ? 3TRE o H1Y T8 HINT | 3
Which Spatial analysis tool will be most useful to know the extent of area affected by

the cyclone Irma ? Explain with diagram.
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Attempt any five questions out of seven questions. Each question carries five marks.

29. wiafers fawer s gt & ? Siafers faver & g TRl § 37 T8 HifT | 1+4=5
What is image classification ? Differentiate between the two methods of image
classification.

30. smmIdtem (fewdmm) @ grar @ 7 foreht wfafsms <t qoremt sem & st %eta @@
TG U ST E 7 1+4=5

What is a histogram ? How are histogram stretching and equalization enhance the
quality of an image ?

31, UG foveivunees Afshanati (3HTAfha SATIEM) § TR iel |l AAfeh 9
B 8 | 39 T2 I TR ieT o i 37 BT ol Ta® i | 5

Raster data structure is more suitable for most analytical operations. Explain the fact
with its advantages and disadvantages.

32, “yumE H vimfeteh FEAT JUITelt 1 SHRN dEaR fuiE o ¥ e g 8 10 %o 6
GRS I | 5

“Use of GIS leads to better decision making in governance”. Elaborate the statement.

33. g9 gag ° fopelt oft gm Y Sriaftes 9 el g W @aU g1 98 |Iewe 91§ |
Y- STTHTITT Tohei1eh il 3 THENIST | Frered & Tgmres gl 2 ? 5

Internal and external security threats are very common for a country in today’s world.
How can geomatics help in resolving these problems ? Explain.

34, 39mg yfcferal 37 gars foat st ST=Nfirar 3R TSR <ht ST Shifr | 2% +2% =5

Explain the benefits and applications of satellite images and aerial photographs.

35. WAt yad @ & 7 gl W et feufa frafor § e frw weRR wenre € ¢ fadens
UG (FiATTee feen) T8 HIT | 1+1+3=5

What are map projections ? How do they help in locating ourselves on earth ? Explain
with the help of co-ordinate system.
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